Pre-Calculus 







Name  ________________________
Unit 3 Review – 2.1-2.9
YOUR TEST WILL HAVE A CALCULATOR INACTIVE SECTION!!  * indicates one you should be able to do without a calculator.  ALSO:  This doesn’t include everything.  Study your two graded assignments!
Show all necessary work!!  Use pencil.  

*1.  Which of the following is NOT a polynomial:
a)  y = ½ x3 

b)  y = 5

c)  y = 
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d)  y = 
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*2.  One root of 
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  is 2i.  Find the others.  SHOW WORK!
Find ALL roots of the polynomial given.  Leave ALL answers exact (NO DECIMALS!).  Show work!

3.  g(x) = 
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4.  h(x) = 
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Write the equations described (SHOW WORK):
*5.  A polynomial in expanded form with roots 4 and -3 +2i.  
*6.  A quadratic with Vertex(-2,5) & point (4,-1).
*7.  Use the factor theorem to find the value of k so that the remainder for 
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 is 15.
*8.  Convert the following to vertex form:  y = 2x2 – 12x + 7. State vertex and axis of symmetry.
Find the End Behavior Asymptotes for:
*9.  
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*10.  g(x) = 
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.
11.  Analyze: g(x) = 
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VA: _________________

HA: _________________

EBA: ________________

D: __________________

R: __________________

Extrema: _____________

Inc/Dec: _____________

Boundedness: ________

Continuity: ___________

Even/Odd: ___________

End Behavior: ________

____________________

Solve the following inequalities by hand (show factoring and number line).  Write answers in interval notation.

12.  
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*13.  
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*14.  
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*15.  (x + 3)|x – 1| < 0
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